H & 0l & AHS B Ml A

COIA Ol 1t
Lol =X 58
CHASEs 2o AE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L OIZOH Q! 1t 188,592, 146 180,360,454 8,231,692
= 117,622,019
[ 4,751,39%
Al 53,323,177
- 12,895,555
ol =X sd 129,428,289 116,326,921 13,101,368
= 87,003,851
[ 4,751,395
Al 27,654,521
- 10,018,522
MNASE o X& 124,569,938 111,566,469 13,003,469
= 86,831,801
= 4,479,519
Al 24,884,418
- 8,374,200
COIHAZRITH] XIZ(AlEI) 1,200 1,600 A400
Al 600
- 600
307 212+01& 1,200 1,600 A400
Al 600
- 600
0122 & 3=l 1,200 1,600 2400
O QAL XA 40,0002 *30& 1,200
Al 600
- 600
Z2alg 2224 XA (Al 395,520 374,400 21,120
Al 296,640
- 98,880
307 @120l & 395,520 374,400 21,120
Al 296,640
- 98,880
11 AMRISXAEEES 395,520 374,400 21,120
OZzAgRaasalld
395,520,000 395,520
Al 296,640
T 98,880
F2AY SAT0| XIA(AlEI) 230,049 222,619 7,430
Al 230,049
307 glztol & 230,049 222,619 7,430
Al 230,049
1 AMISXAIEEX 230,049 222,619 7,430
OZ2AgsAER0INE
230,049,000 230,049




2A:
X XH -
o e

=aak

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 230,049
AZ2AE FA XIR(AlBI) 61,781 38,572 23,209
Al 61,781
307 212+01™ 61,781 38,572 23,209
Al 61,781
11 Al SXAMEE X 61,781 38,572 23,209
OB ZAYILAKA 61,781,000& 61,781
Al 61,781
MASTOH=Cl AANE (AlH]) 271,680 240,000 31,680
Al 203,760
- 67,920
307 212+01 A 271,680 240,000 31,680
Al 203,760
- 67,920
11 AR SXAMEES 271,680 240,000 31,680
OMASMI QI AIAHE
271,680,000& 271,680
Al 203,760
- 67,920
DIESI=ONF=1C=: ) 96,749,310 89,068,998 7,680,312
= 77,400,4%
Al 11,608,870
- 7,739,944
301 LPENF 96,749,310 89,068,993 7,680,312
= 77,400,4%
Al 11,608,870
- 7,739,944
01 AISIBE XS (2 RETME) 96,749,310 89,068,998 7,680,312
OJ =32 k=2 96,749,310,000& 14 9,749,310
= 77,400,4%
Al 11,608,870
- 7,739,944
Lolgdxiel & Al E#SXIA EU(=20]) 18,862,610 13,950,842 4,911,768
= 9,431,305
Al 9,431,305
101 2124t 1,818,300 1,621,950 196,350
= 909,150
Al 909, 150
M IIZNZ22 NS Es 1,818,300 1,621,950 196,350
OLoAS S XA E XIS
1,818,300,000& 1,818,300
= 909, 150
Al 909, 150




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 75,640 79,050 23,410
= 37,820
Al 37,820
01 At2teltl 75,640 79,050 A3,410
Odgt=ZH| 75,640
— L OIAR 2SR E =S
75,640,000 75,640
= 37,820
Al 37,820
307 elztol & 16,968,670 12,249,842 4,718,828
= 8,484,335
Al 8,484,335
11 AMEISXAIEEXS 16,968,670 12,249,842 4,718,828
O QAL 2SR A
16,968,670,000& 16,968,670
= 8,484,335
Al 8,484,335
Lo EESMUIA(ZE) 5,995,884 5,995,884 0
= 4,197,116
Al 1,798,768
307 elztol & 5,995,884 5,995,884 0
s 4,197,116
Al 1,798,768
11 AMEISXAEEXS 5,99%,884 5,995,884 0
O QI ES=SMHIA A
5,995,884,000& 5,995,884
[ 4,197,116
Al 1,798,768
S SSHHELHMHIA(ZS) 564,806 612,582 NA47,T76
[ 282,403
Al 282,403
307 glztol & 564,806 612,582 N47, 776
s 282,403
Al 282,403
11 AMEISXAEEE 564,806 612,582 NAT,TT76
OSHLH I SSAM M AL
564,806,000 564,806
= 282,403
Al 282,403
cogesd 86,616 79,192 7,424
201 =3 10,872 8,448 2,424
01 At22t2l] 10,872 8,448 2,424
OsAlH| 5,184




SA I OoNRl
Hm: Lol =X =
el MASES o X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B EESTE N
9,000 * 122 +60 L «80%<E 2> 5,184
o2Yay 5,688
— I QU E A I B A
100,000 x4 » 123 +80%<E 2> 3,840
—EI QR T A AR I A A
10,0002 x2S x4 B 123 x800<E 2> 768
—L OIS EESAE I 2L I MM
RSB SHEURTE)
150, 0002 6 *B0N<E 2> 720
—SSUNAY MBI AT AL IS AL
AL+ (ZUZEE)
150, 0002 *3 & +80U<E &> 360
202 04| 8,064 8,064
01 =LHO LI 8,064 8,064
O QIR 701H|
20,0003 * 12 x 422 +80%<E 2> 8,064
203 HE=H| 2,700 2,700
03 A= LR F&IH| 2,700 2,700
OALI SAIAI PR
3,000, 0002 x90%<& 2> 2,700
307 @I2t01 & 64,980 59,980 5,000
11 AMRISXAEES 64,980 59,980 5,000
O 2AH0IEZUE 3,250,000 %12 3,250
OelojdalAt 25,900,000 25,900
OXLSAN =2 &S| 12,000
—Uet= el E T A2l Z 2 S
12,000,000& 12,000
OZ 22 A LSA
7,770,000& 7,770
OZ=2g2FuFHIAE 3,840,000& 3,840
OZ 224X (MOILIR S AR S)
3,040,000 3,040
OdZIGAINEAH=UHAZ I
9,180,000 9,180
THOAIE S S A REXIA (AlH]) 126,690 123,000 3,690
Al 126,690
307 @12t01 & 126,690 123,000 3,690
Al 126,690
10 Al SXAAEEHE 22X 126,690 123,000 3,690
OMIH=AESS2ANAIE
126,690,000 126,690
Al 126,690
AL 282 (AlHI) 361,832 362,420 9.412
Al 365,932
- 5,900




A R==t P10 ReTi
Hm: Lol =X =
=Rl MASs =0 XA (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01™ 361,832 352,420 9,412
Al 365,932
- 5,900
10 Al SXAAEEHE2EHI2x 361,832 362,420 9,412
OAILIG 28 24| 350,032,000 350,032
Al 360,032
OAILI S ESAMISESE
7,200,000 7,200
Al 3,600
- 3,600
OAILIGI S8 SANHE U S A
3,600,000 3,600
Al 1,800
- 1,800
OAILICI SESAA2 2 E &I
1,000,000 1,000
Al 500
- 500
H==0t2 X2 (AlH) 6,000 0 6,000
Al 6.000
301 LENZ 6,000 0 6.000
Al 6,000
02 AR 2EH LGS (FHAAHS, W) 6,000 0 6,000
=03 XE 1,000,000& «6H 6,000
Al 6,000
Lo EESMUIAAS XA (AlH]) 99,480 95,160 4,320
Al 49,740
- 49,740
307 212t01™ 99,480 95,160 4,320
Al 49,740
T 49,740
11 AR SX A 2= 99,480 95,160 4,320
O eI¥ESSABIA=E X SAH|
99,480,000& 99,480
Al 49,740
- 49,740
SH- I SS M L MEIAALG R (AlBI) 25,200 21,600 3,600
Al 12,600
- 12,600
307 212t01& 25,200 21,600 3,600
Al 12,600
T 12,600
11 ARIZX A 2= 25,200 21,600 3,600




SA I OoNRl
Hm: Lol =X =
=@t MAsE e X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSR YNHIAFLAS
25,200,000& 25,200
Al 12,600
- 12,600
KA S AR & ESHI(AlHI) 624,000 309,600 314,400
Al 312,000
- 312,000
301 22N 624,000 309,600 314,400
Al 312,000
- 312,000
14 JIEt2d=3 624,000 309,600 314,400
ORELIRANRRSB
624,000,000 624,000
Al 312,000
- 312,000
MOt QIAIE 2 HHIXI& (AlH]) 30,000 30,000 0
Al 30,000
307 elzto| & 30,000 30,000 0
Al 30,000
10 Al2ISTIAEEE2HIE X 30,000 30,000 0
OMIH=QAIE 2SI XA
30,000,000& 30,000
Al 30,000
deAgaraaid 77,280 0 77,280
Al 77,280
307 el2to| & 77,280 0 77,280
Al 77,280
11 AMEISXAEEES 77,280 0 77,280
OZzagatgala
77,280,000& 77,280
Al 77,280
LOI=EXAE 29 4,858,351 4,760,452 97,899
= 172,050
[ 271,876
Al 2,770,103
- 1,644,322
d2Y 29| K& (AlHl) 775,700 769,760 5,940
Al 542,990
- 232,710
307 @20l & 775,700 769,760 5,940
Al 542,990
- 232,710
10 Al2ISTIAEEE2HIEX 775,700 769,760 5,940
OZ2E24H| 772,200,000 772,200




A =QIE0HRI Dt
Lol =X =
ol Z=EXIANE 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 540,540
- 231,660
O ZSHEIIE2Y 3,500,000& 3,500
Al 2,450
- 1,050
AZEY LAH| XK (AlHIl) 464,400 307,200 157,200
Al 464,400
307 212+01™ 464,400 307,200 157,200
Al 464,400
10 IS SXAIEHE2ZHIER 464,400 307,200 157,200
OZZ2Y ALK& 464,400,000 464,400
Al 464,400
22Y 2494l XA 79,600 78,400 1,200
307 QIZ2t01A 79,600 78,400 1,200
10 IS SXAIEHE2ZHIEX 79,600 78,400 1,200
OB ZY2IHIF KA
79,600,000& 79,600
SOITHHIXI A 83,125 76,814 6,311
307 212+01 A 83,125 76,814 6,311
03 QI HE2GHIEX 83,125 76,814 6,311
Otfst I3t R XIg| 2| XI&
83,125,000 83,125
=Y AEXA 358,474 590,211 AN231,737
201 B2 AY| 76,984 78,392 A1,408
01 At 22|l 13,560 15,000 A1,440
Oget=2| 3,000
—&) Myt E =2 S
3,000,000& 3,000
ogxz 10,560
—SCUMIE =L EANNREAZ
10,560,000& 10,560
02 2324l 63,424 63,392 32
O3Es2SLHA 3,424
—ZERYSEaiiiaEE
2,112,000& 2,112
—MENIGSEAZE IR HAAIEZ
1,312,000& 1,312
OAE&EHIR XL 60,000
—FZ2EAERRE 4|
60,000,000 60,000
401 A& B2 20HY| 180,800 381,009 A200,209
01 Al&HI 179,000 379,000 A200,000
OZZYMEA(131012)
179,000,000& 179,000




SA I OoNRl
Hm: Lol =X =
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 1,800 2,009 A209
OZ2YME(131002) 1,800,000& 1,800
402 DIZFXH0| A 100,690 20,810 A0, 120
01 PIIXHZ AN 2 (R T 100,690 120,810 A20,120
OFRYYTNHISY
100,690,000 100,690
Y2 SE A (AIHI) 67,132 66,004 1,128
Al 33,566
- 33,566
307 glztol & 67,132 66,004 1,128
Al 33,566
- 33,566
11 AMEISXAIEEE 67,132 66,004 1,128
OZ=dadatig 26,000,000 26,000
Al 13,000
= 13,000
OzgssZz YRy
41,132,000 41,132
Al 20,566
- 20,566
2243 106,920 86,400 20,520
307 elztol & 106,920 86,400 20,520
11 AMEISXAEEE 106,920 86,400 20,520
OBRYT2 AN
106,920,000 106,920
CoISXI22E X (AlL]) 1,442,273 1,405,104 37,169
Al 1,001,312
- 440,961
307 212+01& 1,442,273 1,405,104 37,169
Al 1,001,312
- 440,961
05 2IZtAE = 1,400,873 1,363,704 37,169
OoolsX22a X 1,400,873
—QIA4H| 1,276,073,000& 1,276,073
Al 893,252
- 382,821
—=34| 124,800,000 124,800
Al 87,360
- 37,440
10 AlRISTIAIEEE 22X 41,400 41,400 0
O IESS=N2SAMNSESS
27,600,000& 27,600
Al 13,800
- 13,800
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SA I OoNRl
Hm: Lol =X =
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= X1l THOLAIE IR (AlB]) 126,690 123,000 3,690
Al 126,690
307 21201 & 126,690 123,000 3,690
Al 126,690
10 Al SXAAEEHE 22X 126,690 123,000 3,690
OAt2I S KIE I THOAIE X &
126,690,000 126,690
Al 126,690
HE(LQ)UE 7,59 7,59 0
307 el2to| & 7,595 7,5%
11 AMEISXAIEES 7,59 7,595
OFE(2Nst 7,595,000 12 7,59
Z2g det] ¥ 22H|(=HI) 344,100 307,650 36,450
= 172,050
Al 86,025
- 86,025
307 gl2to| & 344,100 307,650 36,450
= 172,050
Al 86,025
- 86,025
10 Al SAAIEEHE 22X 344,100 307,650 36,450
OFRYYLSHIL ST
344,100,000 344,100
= 172,050
Al 86,025
T 86,025
SO &e K& (AHI) 22,840 21,800 1,040
Al 22,840
201 2egh=3| 22,840 21,800 1,040
Al 22,840
01 AtR2tc|HI 22,840 21,800 1,040
Oget=EH| 22,840
— 20| (BN YESESPY
11,420,000 »23] 22,840
Al 22,840
MOt IR MEIAEIE SAEA ZUSZAHI(AIHI) 3,600 3,600 0
Al 1,800
- 1,800
307 glztol & 3,600 3,600 0
Al 1,800
T 1,800
10 Al SXAAIEEHE 22X 3,600 3,600 0
Ot X &M AHIEH B ALK E B S A
3,600,000& 3,600




SA I OoNRl
Hm: Lol =X =
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,800
T 1,800
Z2g 24 o™ X (AlH]) 619,200 614,400 4,800
Al 433,440
- 185,760
307 gl2to| & 619,200 614,400 4,800
Al 433,440
- 185,760
11 ARRIS XA E X 619,200 614,400 4,800
OZzgzsa8Nd 619,200,000 619,200
Al 433,440
- 185,760
LoISX A2 2 AY|(AlL]) 10,000 10,000 0
Al 5,000
- 5,000
307 el2to| & 10,000 10,000 0
Al 5,000
- 5,000
11 AMEISXAIEEXS 10,000 10,000 0
oSN EZ2 M2 A
10,000,000& 10,000
Al 5,000
- 5,000
V2|2 SIIAE X X2 ALY 16,752 18,616 A2,864
= 7,876
Al 7,876
402 QI2F X201 & 16,752 18,616 A2,864
= 7,876
Al 7,876
02 QI XHZ AL E R (01X THE) 15,752 18,616 A2,864
OFIUI|BIAE(BIN=EDI)
XA 15,752,000& 16,752
[ 7,876
Al 7,876
ABISXIHQITHOIAIE 2SI X1 (AlH]) 30,000 30,000 0
Al 30,000
307 @120l & 30,000 30,000 0
Al 30,000
10 Al SXAAEEHE 22X 30,000 30,000 0
OAISXIE AT 2SI XA
30,000,000 30,000
Al 30,000
Ot QIAIE SAMK SEA2ZB & X (AlH]) 800 600 200




SA: LoIE0H et
Lol =X =
Tl LOIZXIAY 2 CoR
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 400
= 400
307 212+01 A 800 600 200
Al 400
- 400
10 Al SXAEHE2EHIEX 800 600 200
OMIICQIAIE A S EH L Z T
800,000& 800
Al 400
- 400
LOISXHCI2HAIE SAHA HUZAH| 600 600
Al 600
307 QI2Hol 600 600 0
Al 600
10 IS SXAIEHE2ZHIEX 600 600 0
OIS IO 2 Al S BAKE HBA|
600,000 600
Al 600
LOISEI=SN2SALAL S22 | 2,000 2,200 A200
Al 1,000
- 1,000
307 212+01 A 2,000 2,200 A200
Al 1,000
- 1,000
10 AlSISEXAEHE2EHIEX 2,000 2,200 A200
O SE=N2ASAIANSE A2 Z A
2,000,0002 2,000
Al 1,000
- 1,000
ADEZRY 25 & &t 264,000 264,000
s 264,000
401 Al&HIZ 20| 264,000 264,000
= 264,000
01 Al&Hl 264,000 0 264,000
OANIEAZERE2 &0t
264,000,000& 264,000
s 264,000
SIHAZY SZIMESAH(T F2UEC0IAH) 8,200 8,200
401 A& BIZ 200 8,200 8,200
01 Al&Hl 8,200 8,200
Ot B2 Z ML SA
8,200,000& 8,200
Zoger =X & 55,633,236 60,348,606 A4,715,370
= 30,575,727




SN LCoIZ0felD
I Zojel =X sd
el MAS ZoHelXA (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 23,710,229
T 1,347,280
MNAS XA 33,757,047 38,007,862 A4,250,815
= 21,478,178
Al 11,421,498
- 857,371
FojlEsal 158,030 135,374 22,656
201 =3 45,056 36,812 9,244
01 At2t2lt] 35,456 34,212 1,244
Ogit=3H| 23,696
—ZOH I RS I K| Q144 800,000 800
— U SSESRKENES
3,80024 1,800 6,876
R (- E eI = N
4,000 900 3,600
—HA=EI2R=(25)
12,420,000 12,420
o2Yay 9,600
— RN = XIS BB & A gt
100,000 182 +23] +80%<ZE 2> 2,880
— QIS NAUE N ESI 23
PN
100,000 *7 & %122/ «80%<E &> 6,720
OS2 AlH| 2,160
—Zi=NgERFIAS2 =AM
9,000 x5 +60L xB0U<E &> 2,160
2 35244l 1,600 1,600 0
O3 2=ZAAl 990
-GS E
5,500 1501~ 12 990
OAIE2 &= X 610
—FadsD|=d =X 610,000& 610
03 A2 I 8,000 0 8,000
O=72lsHol=&elo s etotg
10,000,000 «80%<& &> 8,000
202 04l 3,360 3,360
01 =LHAHI 3,360 3,360
OZMASXNAEN =B H TN
20,0002 *5 S 422 +80%<E 2> 3,360
307 @I2t01 & 109,614 96,202 13,412
11 ARRIS XA E X 109,614 9,202 13,412
OZHA0IEXSE2SE 69,304
—HE YA S M2 HIE
34,652,000 34,652




A =QIE0HRI Dt
Mmool =X =X
Rl MAS XA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—XxMZEoelga g X3l
34,652,000 34,652
ORI A HA RS 32,310
—XIMEeIE3tE X3
32,310,000 32,310
OFMeldeH2g XA 8,000
—XxMZEoelga g +x 3l
8,000,000& 8,000
ZOHQI ALK A 17,565 18,035 A4T0
307 gI2Hol ™ 17,565 18,035 AN4T0
11 Al =SXAMEES 17,565 18,035 A4T70
OXFoHeIe LI gei At
7,200,000& *13] 7,200
OF O MIALISOIHAL
5,100,000 *13] 5,100
ORI 0|2 LA 800,000&*13] 800
OAIZE OO NI A LIS Ol AL
1,895,000 *13| 1,895
O ==t
2,570,000&*12] 2,570
ZOHR =L 8,700 8,700 0
307 212+01™ 8,700 8,700
04 QIZHHAIAIRIE & 8,700 8,700
OIS 3l 8,700,000& 8,700
KIMIZHOH I S| AIE K2 (AlH]) 119,301 104,196 15,105
Al 47,720
- 71,581
307 QIZt01A 119,301 104,196 15,105
Al 47,720
- 71,581
10 AISISXAEHE2ZHIER 119,301 104,19 15,105
OXIME O HO AL XM 2
119,301,000& 119,301
Al 47,720
- 71,581
Fofel et AR X (=) 1,052,572 1,036,000 16,572
= 526,286
Al 526,286
101 @124l 953,804 1,036,000 A82,196
= 476,902
Al 476,902
M IIRINZ2Z2XsSEs 953,804 1,036,000 AB2,1%
OZ ool deta A Rte| At
953,804,000& 953,804
= 476,902




SA I OoNel
M mojel =1 =3
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 476,902
201 et 3| 98,768 0 98,768
= 49,384
Al 49,384
01 AlR22IH| 9,768 0 9,768
OB LB ATI2I AL
98,768,000 98,768
= 49,384
Al 49,384
ZOHQ! AlIZFHIZ X2l XI&(=2H]) 210,520 208,000 2,520
= 105,260
Al 105,260
101 21AH| 190,762 208,000 17,238
= 95,381
Al 95,381
M ORNZZ2NSE S 190,762 208,000 A17,238
OZOHIAIZF RIS K2 IAL
190,762,000 190,762
= 95,381
Al 95,381
201 er23y| 19,758 0 19,758
= 9.879
Al 9,879
01 AFS2t2ltl 19,758 0 19,758
OZOHIAIZEMIZ X2l AFR
19,758,000& 19,758
= 9,879
Al 9,879
ZoHel SXIYXtel X2 (=4l) 793,762 758,000 35,762
= 396,881
Al 396,881
101 @124H| 114,584 117,000 A2,416
= 57,292
Al 57,292
04 JIZtN2Z2 XS+ 114,584 117,000 A2,416
OFMHUS XLt ALS
114,584,000 114,584
= 57,292
Al 57,292
201 er23| 4,832 0 4,832
= 2,416
Al 2,416
01 At2teltl 4,832 0 4,832
OHMHU=S XL X2 ALS 4,832,000& 4,832




SN OIFOfQI D
I Zojel =X sd
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,416
Al 2,416
307 elztol & 674,346 641,000 33,346
= 337,173
Al 337,173
1 AMISXAIEEXS 674,346 641,000 33,346
OFHEE AL XICIALE
590,054,000 590,054
= 295,027
Al 295,027
OS4DS=X A ZOILKI2| AteS
84,292,000 84,292
= 42,146
Al 42,146
o< J1=(=4l) 1,222,200 1,189,247 32,953
= 855,540
Al 256,662
- 109,998
301 EtE N = 1,222,200 1,189,247 32,953
= 865,540
Al 256,662
T 109,998
01 A2 HSFS(RDNEERTHE) 1,222,200 1,189,247 32,953
O ES=INI=1PES)] 1,222,200,000& 1,222,200
= 855,540
Al 256,662
- 109,998
=g Xtarel S(=24I) 510,160 502,177 7,983
= 357,112
Al 107,134
- 45,914
301 2eEN= 510,160 502,177 7,983
= 367,112
Al 107,134
- 45,914
01 Al EE AL S(FREXH) 510,160 502,177 7,983
OFMHASXZ(RHAPIS)
510,160,000 510,160
= 367,112
Al 107,134
- 45,914
oz =20 Xa(=Hl) 6,769,247 6,815,170 A\45,923
= 4,738,473
Al 2,030,774




SA I OoNel
I Zojel =X sd
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 6,769,247 6,815,170 N45,923
= 4,738,473
Al 2,030,774
01 Al EE A2 (2RNEXMR) 6,769,247 6,815,170 N\45,923
(OFS{1 Felleii= = {GPAF=
6,769,247,000& 6,769,247
= 4,738,473
Al 2,030,774
ZOHIHZ FOLXIA(AH]) 287,280 293,000 A5, 720
Al 287,280
301 EtE2 NS 287,280 293,000 N5, 720
Al 287,280
02 MBI 2EHSFHS(HAANS, XLHE) 287,280 293,000 AB,720
OHMHAHASFIIAA 287,280,000& 287,280
Al 287,280
ZOHOtsS =2 FIHRIR(AIHI) 9,360 8,880 480
Al 9,360
301 EtE2 NS 9,360 8,880 480
Al 9,360
02 ARSI 2 XSG (FHAAHS, W) 9,360 8,880 480
OIS+ ItAd 9,360,000& 9,360
Al 9,360
Zope!l 2sX(=4l) 17,544,964 21,163,096 23,618,132
= 12,281,475
Al 5,263,489
307 elzto| & 17,544,964 21,163,096 23,618,132
= 12,281,475
Al 5,263,489
1 AMEISXAIEEXS 17,544,964 21,163,096 A3,618,132
odoelgsia 17,544,964,000& 17,544,964
= 12,281,475
Al 5,263,489
ZOHQ! S XIJ Jtat=EH(=4l) 234,219 204,122 59,903
= 163,953
Al 70,266
307 glztol & 234,219 294,122 /59,903
= 163,953
Al 70,266
1 AMEISXAIEEES 234,219 294,122 /59,903
OZ SN2t
234,219,000 234,219
= 163,953
Al 70,266




SN OIFOfQI D
I Zojel =X sd
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Zoiel sSXI&(AIBI) 1,427,653 1,532,160 104,507
Al 999,357
- 428,2%6
307 el2to| & 1,427,653 1,532,160 104,507
Al 999,357
- 428,296
1 AMISXAIEEXS 1,427,653 1,532,160 104,507
OZ &S KA=IHA
1,427,653,000& 1,427,653
Al 999,357
- 428,2%6
IS SR 24A12H S KR (AlH]) 421,031 336,240 84,791
Al 421,031
307 21201 & 421,031 336,240 84,791
Al 421,031
11 AMEISXAIEEXS 421,031 336,240 84,791
Oz SSEMAAA 2SI
421,031,000 421,031
Al 421,031
LETHEAMEIA BIRH X2 (=8]) 853,364 797,171 56,193
= 597,355
Al 256,009
307 gl2to| & 853,364 797,171 56,193
= 597,355
Al 256,009
11 ARRIS XA E X 853,364 797,171 56,193
OLeTHE MHIAHISHAIA
853,364,000 853,364
= 597,355
Al 256,009
ANL LR HRH X (=24]) 5,505 10,750 Ab,245
= 3,84
Al 1,651
307 el2to| & 5,505 10,750 Nb,245
= 3,8%4
Al 1,651
11 AMISXAIEEX 5,505 10,750 Ab,245
OuEgXHB2M X
5,505,000 5,505
= 3,854
Al 1,651
LT RRAEXR(Z2H]) 17,429 17,291 138
= 12,200
Al 5,229




SA I OoNel
M mojel =X =A
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 17,429 17,291 138
= 12,200
Al 5,229
11 AMEISXAIEEXS 17,429 17,291 138
OgLRRILD LRI
17,429,000 17,429
= 12,200
Al 5,229
LLTOHR =2AHESAHIAXIR(=HI) 1,233,700 1,782,295 AD48,595
= 863,590
Al 370,110
307 lztol & 1,233,700 1,782,295 A548,59%5
= 863,590
Al 370,110
11 AMEISXAIEEES 1,233,700 1,782,295 A\B548,595
OB FAHESHYIATIH
1,233,700,000& 1,233,700
= 863,590
Al 370,110
ST LI F2tEs O8E N3 (=H]) 328,000 491,828 163,828
= 229,600
Al 98,400
307 glztol & 328,000 491,828 A163,828
= 229,600
Al 98,400
1 AMEISXAEEXS 328,000 491,828 163,828
Ozlss2Ediel=A2s 188 A
328,000,000 328,000
= 229,600
Al 98,400
LN LT SSHHIAXIR (=) 328,114 276,961 51,153
= 229,680
Al 98,434
307 elztol & 328,114 276,961 51,153
= 229,680
Al 98,434
11 AMEISXAIEEE 328,114 276,961 51,153
OgadMHILBUSESHEIAXA
328,114,000& 328,114
= 229,680
Al 98,434
STHL SZ4EA(=H]) 40,236 0 40,236
= 16,096
Al 24,140




SN OIFOfQI D
I Zojel =X sd
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 40,236 0 40,236
= 16,096
Al 24,140
11 AMEISXAIEEXS 40,236 0 40,236
OSSHMeIsSTSEAY
40,236,000 40,236
= 16,096
Al 24,140
ZoHelel=HI IR (=2H1) 93,019 142,418 A\49,399
2 74,415
Al 18,604
308 XXM SOIA 93,019 142,418 49,399
= 74,415
Al 18,604
18 SIS0t oA AS A 93,019 142,418 A\49,399
Ol =ZHIXI& 93,019,000& 93,019
= 74,415
Al 18,604
ZOHRIEZDD| WR(=HI) 23,145 23,145 0
= 18,516
Al 4,629
307 212+01& 23,145 23,145 0
= 18,516
Al 4,629
0192 & 3=H| 23,145 23,145 0
OFMHAZRII| W T 23,145,000 23,145
= 18,516
Al 4,629
MASEOHQ! ety &8 FAHI XI& (=HI) 7,384 7,832 N448
= 3,692
Al 3,692
307 @I2t01 & 7,384 7,832 N448
= 3,692
Al 3,692
0122 & 3=l 7,384 7,832 A48
OMASEAXHHI LA AHI XA
7,384,000 7,384
= 3,692
Al 3,692
H2AH0HQ QIS OI2 = X K XIJ(AlH]) 11,000 15,000 24,000
Al 11,000
307 glztol & 11,000 15,000 24,000
Al 11,000




SA I OoNel
Mmool =X =X
Rl MAS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0192 & =4l 11,000 15,000 24,000
OETOYIQDLYBO| 242 DX/
11,000,000 11,000
Al 11,000
OAZNel SLHISXIR(2HI) 6,000 6,000 0
= 4,200
Al 1,800
301 EtE N = 6.000 6.000 0
= 4,200
Al 1,800
01 Al EE A S (2 RNEEMHA 6,000 6,000 0
O gl =4SN
6,000,000& 6,000
= 4,200
Al 1,800
ZOHQIDLE S AXIRZ I (AlHI) 9,000 5,000 4,000
Al 6,300
- 2,700
301 EtE N = 9,000 5,000 4,000
Al 6,300
- 2,700
02 A2 X 2GS (FHAAHS, NSWE) 9,000 5,000 4,000
OFMeIIEEEM NS
9,000,000 9,000
Al 6,300
- 2,700
HEOtSIIEBAEHH 2SN 14,587 0 14,587
307 glztol & 14,587 14,587
11 AMEISXAEEE 14,587 14,587
OUEOtSIHEMGHEZE A
14,587 ,000& 14,587
ZoH=XAIE 2E 21,876,189 22,340,744 N\464,555
= 9,097,549
Al 12,288,731
- 489,909
HOHAAFAIE 2SR (=H]) 12,962,929 12,952,929 0
= 9,067,050
Al 3,885,879
307 el2to| & 12,952,929 12,952,929 0
= 9,067,050
Al 3,885,879
10 Al SXAI2EE 22X 12,952,929 12,952,929 0
O AHFAIZ 12|
12,423,852,000& 12,423,852




A =QIE0HRI Dt
Mmool =X =X
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 8,696,6%
Al 3,727,156
OFORINFAI LS|
529,077,000& 529,077
= 370,354
Al 158,723
ORI HZ=AIE JIEFKIA(AlIH]) 774,843 824,346 A49,503
Al 391,634
- 383,209
307 212+01 A 774,843 824,346 A49,503
Al 391,634
- 383,209
01 22 & 35| 73,803 81,906 8,103
OB ONQIHZAI S EH A
12,000 %3374 4,044
Al 4,044
OZHAAHFAIEE S22 EI
13,000 %3374 4,381
Al 4,381
OZOHIAFAIE 2 2+ EH|
12,0002 3374 * 123 48,528
Al 24,264
- 24,264
OBONQIHFAILT =]
50,000 337 B *13| 16,850
Al 8,425
- 8,425
10 IS SXAIEHE2ZHIEX 701,040 742,440 A41,400
OBONIHFAEBARSB4E
548,640,000 548,640
Al 274,320
= 274,320
OB HFAI S BARE UZ Y|
152,400,000& 152,400
Al 76,200
- 76,200
NI IHZFAIE 2H(AlB]) 1,196,557 1,195,601 956
Al 1,196,557
307 gI2tol M 1,196,557 1,195,601 956
Al 1,196,557
10 Al SXAEHE2EHIEX 1,196,557 1,195,601 956
OZOHIS D HFAIE Q14|
1,156,657,000& 1,156,657
Al 1,156,657




SA I OoNel
33 e sX 88
Rl ZoHISXAIE 29 (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
OZNAE DI H=AIE 22|
39,900,000& 39,900
Al 39,900
i SSMEILE 2F(AlHl) 263,112 255,106 8,007
Al 263,112
307 @12t0| & 263,112 255,105 8,007
Al 263,112
10 Al SXAAEEHE 22X 263,112 255,105 8,007
OROHQIBEHEIH 0121
235,210,000 235,210
Al 235,210
O =s4eIE 23|
27,902,000& 27,902
Al 27,902
XIHZORe! XM 2SHI(AlH]) 206,375 133,206 73,169
Al 206,375
307 212+01& 206,375 133,206 73,169
Al 206,375
10 Al SXAAEEHE 22X 206,375 133,206 73,169
OXNHZ I AHE A HEH 2SI
206,375,000 206,375
Al 206,375
ST S MSHE X1 (AlIH]) 100,000 100,000 0
Al 100,000
307 glztol & 100,000 100,000 0
Al 100,000
10 AlRISXAZEE 22X 100,000 100,000 0
OSSHMATHLEHEH2SH
100,000,000 *1IH 2 100,000
Al 100,000
ZOHQI XIS A& MHIE EAAL XIR (AIHT) 1,600 4,400 22,800
Al 800
- 800
307 212+01™ 1,600 4,400 A2,800
Al 800
- 800
10 AlRISTIAIEEE 22X 1,600 4,400 /2,800
OFS{U ReIDNS= b= Full S b == FSlal
400,000 400
Al 200
- 200
O AHEEEHdHIHS A
1,200,000& 1,200
Al 600




A =QIE0HRI Dt
Zu: ool =7 5
Rl ZoHISXAIE 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| = 600
NI HFTAIE SIIFHED| &g X2(=tl) 2,771 2,771 0
= 1,663
Al 1,108
307 QIZ2t01 A 2,771 2,771 0
= 1,663
Al 1,108
10 Al SXAIEHE2ZHIEX 2,771 2,771 0
OO HFAILBIIHEI| LT
2,771,000& 2,771
= 1,663
Al 1,108
ZONQIHFTAIE 10T, Al S SSAY 29X (=0]) 1,5%4 1,884 2290
= 1,116
Al 478
307 QIZt01 A 1,594 1,884 A2
= 1,116
Al 478
10 IS SXAIEHE2ZHIEX 1,594 1,884 2290
OZOHAHFAILIT A2 ESSAMLE2Z XA
1,594,000& 1,594
= 1,116
Al 478
ZONQIHFTAIEBAIAE A& XA (AlIBI) 26,000 26,400 A400
Al 26,000
307 212+01 ™ 26,000 26,400 2400
Al 26,000
10 IS SXAIEHE2ZHIEX 26,000 26,400 2400
OZ O HFAIE S A2 Z &H|
26,000,000& 26,000
Al 26,000
ool ZE=EXZ 2 (AlYI) 1,556,861 1,556,861 0
Al 1,556,861
307 QI2Hol ™ 1,556,861 1,556,861 0
Al 1,556,861
05 QIZtRES 1,556,861 1,556,861 0
OIS =X 21244|
1,329,313,000& 1,329,313
Al 1,329,313
O sSE=X22HH|
227,548,000 227,548
Al 227,548
ol MAMMEAIE 2 (AlYI) 2,192,780 2,123,020 69,760
Al 2,192,780




A olEolel D
I Zojel =X SN
Rl ZoHISXAIE 29 (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
307 lztol & 2,192,780 2,123,020 69,760
Al 2,192,780
10 MeISXAEEE 202 2,192,780 2,123,020 69,760
OHHAXHTHEAIZ0124H|
2,021,888,000& 2,021,888
Al 2,021,888
OZ A ATHEAIE 2|
170,892,000& 170,892
Al 170,892
ZOHQ! OIEAIE BALL SE2(AlHI) 121,200 118,800 2,400
Al 60,600
- 60,600
307 212+01& 121,200 118,800 2,400
Al 60,600
- 60,600
10 AlRISTIAIEEE 22X 121,200 118,800 2,400
OHMHAXNBHE AL SAMNSESS
39,600,000 39,600
Al 19,800
- 19,800
OZ ARG AN L SAINSE S
81,600,000 81,600
Al 40,800
- 40,800
ZOHQIOIEAIE B ALRH A2 &H| XI&(AIHI) 8,600 9,800 21,200
Al 8,600
307 21201 & 8,600 9,800 1,200
Al 8,600
10 Al SXAAEEHE2EHI2x 8,600 9,800 1,200
OO XNHME AL SAAA LA LY
2,600,000 2,600
Al 2,600
OO XS AL HE A E SAHAHA ZH &Y
6,000,000& 6,000
Al 6,000
ZOHe! =2Hol8AIE 2 (AlHI) 1,954,129 1,949,029 5,100
Al 1,954,129
307 212+01& 1,954,129 1,949,029 5,100
Al 1,954,129
10 AlISXAZEHE 22X 1,954,129 1,949,029 5,100
OZ I =20l EAIE 12|
1,870,336,000& 1,870,336
Al 1,870,336
OZ I =20l ZAIE 2|
83,793,000 83,793




SA: LoIE0H et
S ZOoHel =X &
&2l HHUSKAIE 29 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 83,793
EH2LEHO! =0 SHME 2L (AlYI) 358,798 358,798 0
Al 358,798
307 212+01™ 358,798 358,798 0
Al 358,798
10 AlSISXAIEHE2ZHIEX 358,798 358,798 0
OFELEHMl=HS G HIE 2]
336, 185,000& 336,185
Al 336, 185
OFELEFMI+=HSFHH 22
22,613,000& 22,613
Al 22,613
HOHCIOISAIE S AL HHZAH| XI2(AlG]) 60,600 59,400 1,200
Al 30,300
- 30,300
307 212+01A 60,600 59,400 1,200
Al 30,300
- 30,300
10 Al =S XA EEE2IHIE X 60,600 59,400 1,200
OZOHI A ATHEAIE SALAHE HZ Al
19,800,000& 19,800
Al 9,900
- 9,900
OX O XS ASI THE A ESALRHE BZALH|
40,800,000& 40,800
Al 20,400
- 20,400
ZOHQIRATHEAI A DIsE2H(=HI) 55,440 32,900 22,540
= 27,720
Al 27,720
402 SI2ER=0lH 55,440 32,900 22,540
= 27,720
Al 27,720
02 QI EAEEE(OIMTHE) 55,440 32,900 22,540
OO ATHEAIAD I SEZ
55,440,000 55,440
= 27,720
Al 27,720
Ol ZOHQIDFARZ I ALK (ALEI) 27,000 30,000 A3,000
Al 27,000
307 QIZt01 A 27,000 30,000 A3,000
Al 27,000
11 AL =SXAMEES 27,000 30,000 A3,000




SA: SOIEOfOI It
M AHoel =X S
oel: ZOHISXIAIE 2F (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O A EOHCI DA S K& AFS
27,000,000& 27,000
Al 27,000
TEEEEEEEIETE) (PN 15,000 0 15,000
401 A& H|ILE0HY] 15,000 15,000
01 Al&HI 15,000 15,000
OUEREHMIESE=RNAAHERK B
15,000,000 15,000
ASISXAIE AHEIA K& 1,304,104 1,717,678 N413,574
AMNSISXAMHIA S 1,304,104 1,717,678 N413,574
AIS| X MEAI L K& 24,000 24,000 0
301 LEtEXZ 24,000 24,000 0
02 A 22 A 26 2( S HE, NLHH) 24,000 24,000 0
OAIZIS X MEAIERE
15,000& x800H #23| 24,000
A LA e (HEAFH2-1) 1,280,104 1,693,678 N413,574
301 LEtEX 2 1,280,104 1,693,678 N413,574
10 AISISRRJIEBAZ 1,280,104 1,693,678 N413,574
O ESRRIASS
1,300,000 x70H = 12& & 1,092,000
OAIZI B2 W EH|
3,400&*70H 21 x 128 59,976
OAE22ATI=H]
309,840 15H 4,648
OAMNS=SRLASAIHI
7,000&*70H 21 x 128 123,480
=0 B « X« 2,057,698 1,804,233 253,465
= 28,021
Al 1,944,007
- 85,670
E=0IAIE X 2,024,683 1,771,223 253,465
= 28,021
Al 1,944,007
- 52,660
L==0IAl4 29H|(AIHI/2CH /T EAFS) 1,822,469 1,608,303 214,166
Al 1,822,469
307 S1Z2H0| & 1,822,469 1,608,303 214,166
Al 1,822,469
10 AISIEXIAIZBEE2IHIEX 1,811,969 1,597,803 214,166
OL=0lHE A& 014H]
1,686,346,000& 1,686,346
Al 1,686,346
O =0T EAI L 22|
125,623,000& 125,623
Al 125,623




SA I OoNer 1t
Hm: Lol 25 U X2
SRl ==0AE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 10,500 10,500 0
O =0 HEALHE 2 8|
10,500,000 10,500
Al 10,500
C=0IAE 22l XI& (AlH]) 88,920 88,920 0
Al 45,960
- 42,960
307 elztol & 88,920 88,920 0
Al 45,960
- 42,960
012z & 2=H| 30,600 30,600 0
OIS ESEXE (L) 30,600
— 2|3 15,0003 x120& « 128 21,600
Al 10,800
- 10,800
— =l 50,0003 %120 6,000
Al 3,000
- 3,000
—EA=AHI 12,0003 * 120 1,440
Al 1,440
—2sa3tl 13,0002 120 1,560
Al 1,560
10 Al2IS XA EEE 22X 58,320 58,320 0
O=SOALBARSB LS
58,320,000& 58,320
Al 29,160
- 29,160
C=0EALIISEZ(=H]) 56,042 0 56,042
= 28,021
Al 28,021
402 2I2E X201 & 56,042 0 56,042
= 28,021
Al 28,021
02 QI X2 AL EE (01X THE) 56,042 0 56,042
Ok SO AILIIS
56,042,000& 56,042
= 28,021
Al 28,021
=i m2 08 XIZA (Al /28 HI /S EALY) 27,857 35,000 AT,143
Al 27,857
307 elztol & 27,857 35,000 AT,143
Al 27,857
11 AMRISXAEEES 27,857 35,000 AT,143




SA: LoIE0H et
Hy: L0l 595 9 X
=2 =0lAE XIZ (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
S TEEREEIS
27,857,000 27,857
Al 27,857
LC=0IAIE BARR ZHZAH|(AlE]) 16,200 16,200 0
Al 8,100
- 8,100
307 212+01 A 16,200 16,200 0
Al 8,100
- 8,100
10 AlSISXAEHE2EHIEX 16,200 16,200 0
OL=0AIESARE B S A
16,200,000& 16,200
Al 8,100
- 8,100
SHItTOIGH Ol HAAHS KA 10,000 20,000 A10,000
Al 10,000
307 gI2tol 10,000 0 10,000
Al 10,000
10 Al SXAEHE2EHIEX 10,000 0 10,000
OFSHIHII oI 2 2 HI S KA
10,000,000 10,000
Al 10,000
C=0IAIE SAIRE SEA2 A X XA (AlG]) 3,200 2,800 400
Al 1,600
- 1,600
307 gI2Hol 3,200 2,800 400
Al 1,600
- 1,600
10 Al S XA EHE2IHIE X 3,200 2,800 400
O &0IAIE EAEE A 22T
3,200,000& 3,200
Al 1,600
- 1,600
=0 B35 33,010 33,010 0
L= B35 33,010 33,010 0
201 Ler2| 320 320 0
01 Ar22eltl 320 320 0
Oo2g=g 320
— 2019l - EAMA R SE
100, 0002 x2H 23| *80%<E 2> 320
301 LBENF 25,760 25,760
02 MBI BEHH2(HUAS, NLTHEA) 24,800 24,800
ORHDNO|IZMESSXL)ARSK LIS
800,000& 11+ 8,800




SA: LoIE0H et
Hy: L0l 95 9 K
= - (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O3 &k 800,000& 20+ 16,000
14 JIEIE A= 960 960 0
OL=21AE 0] 20,0003 x4« 12& 960
308 AXISHMSOIA 6,930 6,930
13 I 2SHICHEHE & &AL HI 6,930 6,930
OdAANZ XL 2 2ENZ
770,000 x92*1JH Ak 6,930
HE2HZH| (=l &0 D) 168,819 163,016 5,803
= 14,420
Al 14,420
- 139,979
olE2IH| 148,977 143,500 5,477
= 14,420
Al 14,420
- 120,137
ol 2| 64,244 62,068 2,176
101 21 d| 64,244 62,068 2,176
01 24 64,244 62,068 2,176
OAlRIeI2R4Y
1, 60220 % 162 5351 2 1221 1 (3480 24>
64,244
ol I (HOHQIEH AL 22]) 46,270 44,126 2,144
101 2124d| 46,270 44,126 2,144
03 SRH(RINHS) 22X 22 46,270 44,126 2,144
ORI Bl AlE 22| 46,270
—z2u4y 37,985
22 2,286,910 x 18+ 12& 27,443
RS = 2,286,910& 1 +x200% 4,574
- 2gg 228,000 x 18+ 12& 2,736
- HOH2 At
16, 57024% 12 4BAI 2H+242 3,182
— IS ()
40,0003 x1H* 123 480
—= Al 140,000 x1H + 122 1,680
—u&H| 140,000 x1H + 122 1,680
&2 343,040& 18 +23] 687
— S EEM
2,286,910& * 1 +60%+23] 2,745
—yAAZE 1,063,000 1,063
ol 2| (Lol U R M/ 2H]) 38,463 37,306 1,157
2 14,420
Al 14,420
- 9,623
101 2124 d| 38,223 37,306 917




SA I OoNel
M HAPAZH|(=QIF0HRI D)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 14,420
Al 14,420
- 9,383
03 SR (RIH )22 E 4 38,223 37,306 917
Ol T2l MEIRAHI (A EE 2 SEE)
38,222 68021 38,223
2 14,420
Al 14,420
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